INSTRUMENT PROCESSING SHEET

FEDLE ageney LOCoe. PO

sn_8C~CC oo

Alcohol Testing Program =
paten 2 /3 / \ 7 pateout_ B[R2[ 11 Hship Qp/u OH/O Ocwmi OEE
o s
Intake Performed By, 1O Quality Checks Performed By 3 | Flow Calibration Performed By
O Registration l Lab Temp°C 257 Flow Calibration N/A”E
BN Annual E Breath Tube Screen O Flow Calibration Complete E l VE'&
&—Return from CMI g Replace External O-Rings Flow Column # (fg
O Return from Enforcement Instrument Set Up Verified Q sL/min-17mm 3 20]7
Electronics R-Value ' o 15L/mm,q,§,§£ﬂ FD
O oOther Flow Verification (L/s) . __ . O 30L/min-1 est E
Visual Inspection: Flow Column # pf I Pl D% O R-Value ing P,- og,
M case ol Handle 32mm [ 5Z (139-.169) | Q Post Calibration Verification (L/s) 2'¢ #m
<\ Dry Gas Holder _OW Feet 36mm {2 (.156 - .190) Flow Column # 7
_OK Keyboard/Plug _£)lt Back/Plugs 53mm 4 — (.228 - .278) 32mm (.139-.169)
W Screws tight O Breath Hose % 103mm _~4$4{y (.447 - 547) 36mm (.156 - .190)
Barometric Pr &ssure Check 53mm (.228 - .278)
Other Equipment: Gauge ID # 103mm (.447 - .547)
X Power cord 'ﬁ Stability Checks Maintenance Performed By
O Printer Cable Simulator | Serial # Lot #/Exp O Battery Replacement
K other 631'3?'\ < ?x;.q, 0.05 A0 1D || O Dry Gas Regulator Replacement
v G?QO—} 8 -85 -5| | @ Breath Tube Replacement
0.08 S [I071E | | Q Other
Notes: 68149 %2.25;? j [ | | Quality Checks Cont. Performed ByS{_
0.20 . K201707¢ | | Simulator Temperatures °C
é 2408 1 -R4-19] | External Digital Therm. ID#: 300505
0.08 DGS N/A AGLe 2ol ﬁ 34°C +-.2 Serial #: (3
4-22-1§ g 34°C+-.2 Serial#: (9% | 1
34°C +-.2 Serial#: (440
Calibration Adjustment Performed By Department Inspection Performed By
¥ calibration Adjustment N/A ﬁ Baro etnc Pressure ol5 Gauge
O Calibration Adjustment Complete DESOTAHAL 0Ol e Instrument
Barometric Pressure Gauge iD#
Simulator | Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # QO Lin ~C
0.000 N/A N/A Acetone Stock Solution Lot # @_lﬂl - A
0.040 Simulator Serial Number
0.100 0.00 & A5G
T Interferent 6‘3 944
: 0.05 G o013
0.300 0.08 é'.l %7 ‘ L{.CI
0.080DGS | N/A | |[020 & 3408
O  Post Calibration Adjustment Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments
0.05 Form 41 O Calibration Adjustment
0.08 § Pre-Stability Tests O Post-Stability Tests
0.20 Flow Calibration O Other
0.08 DGS N/A
Notes/Suggested Service: ﬁ Instrument Complies with Chapter 11D-8, FAC
DL /ﬂﬂ Ok @pf NS /4 / joi7 O instrument Does Not Comply with Chapter 11D-8, FAC
B Return to/Place into Evidentiary Use
O Remain Out of Evidentiary Use
B Conductan Agency Inspection Before Evidentiary Use
8/23}17 i
Ddte

Revised May 2017
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FDLE/ATP -048

AT e
Quality C@rol Review



8dMeudis s, Jojeadp

D g 13y
4 W s
m@ E.Emnga

51816 158] |043U0)

6260 00o°0 Yuelg Jig
8¢:80 08070 158] [043u0)
8260 0oo°p Jueig Jiy
8280 80°0 183] [043U0)
{260 00o°0 yeelg Jig
£2'80 080°p 1581 [043u0)
9260 oop Yeig Jiy
aul| T2/ 151
{20018 -a/emyyog

L102722780

100100-08 KS {008 [apoy
Jaz2hieuy jouoary - Ja2fixoqy

‘0°d H030)

) )
Q’'d YO297 ~900)Q0 - g8 L LVAWNAISNI ~SHPaHD A

Meudis s, Joje.ady

C285°0 (30080 pIs [a

ane n3g P

£861°0 abeJan

51835 353 odu

-8l 0e°s yierg J
0e-60 8610 153] 043U
B160 0000 Yerg J
6160 6170 158] 104U
8160 ] welg J
81-61 6177 153) 104U
160 'y yuerg J
8} iz 15

(2018 “akemyy

L102/22/80

00070008 NS 1008 [apay
Jazfireuy oyoary - Jazfixoqup

‘0°d 50000

aJnieubls s, JojeJadp

PIEP'T  (%)n3Q DIS 13y

4l i N30 s
L0800 abe any
51815 183] [043L0)
92:60 000°t We(g Jiy
fRg°s 18] [043u0)
N WBIR 1A

b2+60 a8l 183] [0J43U0]
¢80 oo-o JUerg Jig
£2°60 080°0 183] [0Jju0)
2260 oo JRlg iy
aul) T1eb 153
{2°0018 -3Jemyjos

L102/22/80

000100-08 NS (008 r8poy
Jazfifeuy [ouoaty - Ja2A| pxoju]

"0°d 90303

=

o
-
~

\%\

aJmeubis 5,J018.3dg

SEITT (2aneg Pas (8

00070 nag pIs

05070 abeJany
51895 153] [0Jju0)

b 60 000°p Werg Jig
£8°80 080°0 %3] [0Jju0]
£5°60 000°p yUelg Jiy
280 15070 188] [043U0]
[£60 00°o yerg Jig
1260 150°0 158] 104100]
0£60 ey NUBIg Jiy
il Nie/h 1581
£2°0018 “aJzm)jog

L10222/80
000100-08 NS 0008 13poy
Jazfireuy joyoapy - J32fi] txoug
0°d 6000

LgyLs



" INSTRUMENT PROCESSING SHEET
Agency LOC(DG\ ?\_)
Date In':S/}'Z‘?)/ |7 Date Out Y !L{l‘}i’?
£ N\ |

FIOLE

Alcohol Testing Program

S/N ‘SO -0 (oo
Qship Qp/u QH/D "ﬁcmv QEE

intake Performed By\ 17| Quality Checks _ Performed By <1’ Flow Calibration Performed By
[ Registration Breath Tube Screen ﬁ. Flow Calibration N/A
ﬁ Annual Replace O-Rings L Flow Calibration CompieteRS
O Return from CMI Instrument Set Up Verified Flow Column # CE; !/
O Return from Enforcement R-Value O 5U/min—17mm ,406 S{)
Electronics Flow Verification (L/s) : O 151/min-53mm 2 J (0/
QO other Flow Column # ﬂ IE IC'Z O 30L/min-10 IS 7
Visual Inspection: -y 32mm 10D (.139-.169) | O R-Value Ohol T DLE‘
DK Case ok Handle 36mm _- (.156 -.190) | Q Post Calibration Verification?ﬁt@g Py
Dry GasHolder l{ Feet 53mm _- ﬁ2‘ i_(_{i{.ZZS -.278) Flow Column # Dgfam
U Keyboard/Plug /i Back/Plugs ; 103mm - 4HL0 (.447 - 547) 32mm____ (.139-.169)
A Screws tight QlCBreath Hose ? Barometric Pressure Check 36mm (.156 -.190)
. Gauge D # I8 53mm (.228 - .278)
Other Equipment: ﬁ Stability Checks 103mm (.447 - .547)
Power cord Simulator | Serial # Lot #/Exp
Q. Printer Cable ‘ 0.05 - S0 WoOBD | Maintenance  Performed By
éé— Other _“>tntic E_uq, 63 207 B-5- 17 Q Battery Replacement
d 0.08 - 201016 U Dry Gas Regulator Replacement
DRIZT4 {[-1%5-[§ || Q Breath Tube Replacement
Notes: 0.20 _ (Roiteoyc | | 9 _Other
DR355o[p]-05-75 | | Sugeested Service
0.08DGS | N/A Ao
qQ-28-13
'Optical Bench Calibration Performed By (> Department Inspection Performed By
O Optical Bench Calibration N/A O Barometric Pressure Gauge
Optical Bench Calibration Complete ) ID# Instrument
Barometric Pressure Gauge JQQ I o# A A
Simulator | Serial Number | Lot Number | Expiration Mouth Alcoho! Solution Lot #
0.000 STI0 (e N/A N/A Acetone Stock Solution Lot #
0.040 so\woad | [210) gy Simulator Serial Number
= " 0.00
0.190 onic23  |1500) 220 = [,
- — = nterferent
0.200 DR3B5S [{5104 D=a-11 0.05
0.400 2 24 0F \5106 —16-1) 0.08
0.080 DGS | N/A (Pl 15csad -5 i1 0.20 ,
Post Calibration Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments -
0.05 DRACR5 |A0Wo3D | B-5-1% O Forma1 B Optical Bench Cal X2
0.08 SO390Y | QolwiB W-15-18 ﬂ Pre-Stability Tests Q  Post-Stability Tests X2
0.20 5DI025 |201wode |4-5-18 O Flow Calibration Q Other
0.08 DGS | N/A RGlalolod | 9-22-18
Notes: LIWABLE T AESOWE CAUBRATION |55UE || @  Instrument Complies with Chapter 11D-8, FAC
BETIDEEN 0.0% 'DKL{ 6HAS 3 INET BATH ﬁ Instrument Does Not Comply with Chapter 11D-8, FAC
SIMULATOA. SENDING T0 REPAIL . Q  Return to/Place into Evidentiary Use ‘
B Remain Out of Evidentiary Use - _
O Conduct an Agency Inspection Before Evidentiary Use f IJ"‘ )
; 3 2 E ) \/ A !

Quality Control Review

Date

N

Revised November 2012
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